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ned2 / MATHEMATICS

Four choices are given for each of the questions/incomplete statements. Choose
the correct answer and shade the correct choice in the OMR given to you with
blue / black ball point pen.
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If a pair of linear equations 3x + 2Ky = 2 and 2x + Sy + 1 = 0 are parallel to
each other, then the value of ‘K’
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2. 2x-S5y+4=0=3 2x+y-8=0 dack Iucscronsh
A. QDTN HTE TOTVTID, TROOIT.
B. ©Z0nE FoLodk IOmInYDy, TReohtonh.
C. om0 TOTTIZ, BROOTLST.
D. J0m0INZOY.

The pair of equations 2x-5y+4=0 and 2x+y-8=0 has
A. Exactly two solutions

B. Infinity many solutions

C. A unique solution
D.

No solution

MCQ MP

3. XDy’ n¢ oS BSR 2x - 3y = 12 Ba0e300R) TORROWDIR.

A x=0,y=-3 B. x=2,y=3

Co x=3,y=-2 D. x=-2,y=+43

The values of ‘x’ and ‘y’ when a point lies on the linear equation 2x - 3y = 12

A. x=0,y=-3 B. x=2,y=3

C. x=3,y=-2 D. x=-2,y=+3

4. dcasasaa Twegsre Eeedn Mowey Jejed s FWNT IevINYY IWNDT ge@soﬁﬁh

oh3A.
A. Tedned ITROITTRNGT, TOTOT APRY
B. deadnsd
C. Tesldnsd
D. Gdeadnsb 2
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Identify the wrong statement with respect to a pair of linear equations

A. Iflines are parallel there is no solution

B. [Ifthe lines are perpendular to each other, there is no solution

C. Many solutions if the lines coincide each other
D. A unique solution if they intersect
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R R R S IRPOIT FeRon 108 I
A, 20 B. =21
C. -I5 D. 15
The 10th term of the Arithemetic progression -3, -1, 1, 3 ....... is
A. 20 B. -21
C. ~15 D. 15

6. omd TIPo3T Fepek ‘n’ Fe IW a =T - 4n $T3 FRCPOT WERT, FZ
A 4 B. -4
C. 3 D. -3
The n® term of an Arithmetic progression is given by a =7 - 4n then the common
difference is
A 4 B. 4
C. 3 D. -3

7. 4,a,b, 28 @ I=wosT FeRondus b on B3S
A. 20 B: 19
Co. 23 D. 12

If 4, a, b, 28 are in Arithemetic progression then the value of ‘b’ is
A. 20 B. 19
C. 23 D. 12
8. T xIRo3T FeRne mm% ZZID) BHTNGE. IRTOR JFROd IeBL ITH) 5
S FowSe FRoD IpTON IEFP) 8 ©n ad @ 3e@ne LTl IunY SR
A 2 B. 3

C. 4 D 5

Two arithmetic progressions has the same common difference. If the first term
of the first progression is 3 and that of the other is 8, then the difference between
their 3rd term is

A, 2 B. 3
C. 4 D. 5
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9. ot IRPeIT JrRod FeTo ‘M’ ITAY EaIW Ze S =3n’+ n &58 & JeRod
38 =

A. 14 B. 16

L. 22 D. 42

The sum of first ‘n’ terms of an arithemetic progression is given by the formula
S,=3n*+ n, then its 3rd term is

A 14 B. 16

C. 22 D. 42

10. 3x’-3(2x-4)=0 =RrzNcEcRTW, ¢uIF SAX ax™tbxt+e=0 & Somn BeTHI

250085
A. 3 B. 4
(. =12 D. 12

The constant term in the quadratic equation 3x*-3(2x-4)=0, after reducing it to
the standard form ax*+bx+c=0 is

A, 3 B. 4
C. -12 D. 12

11, (2x-3) (x+5)=0 Zn2DTCEoT oD DRV -5 S $Td DIRCE DRVF)
-3

A s B 3

g o D. 2
2 3

One root of the quadratic equation (2x-3) (x+5)=0 is -5, then the other root is
-3

A. 5 B. 3
3
= ) D. 3
Maths, Science, Social K-E QP 4
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12. x2-2x+1=0 SInFB0e300T Heons LRI,

A, VD BDRT FTIB BRONIH, BRCOLIE.

B. Q0@ 28700 mIW TR RNy, SeonvaEd, TROOTIT.
C. Q0D 30T, TS Tene t—:z;?,m;ug RONT, BRODTTT.
D

OIRPTIE TWAT TRONIR, VRO,

The nature of the roots of the quadratic equation x*-2x+1=0 are
A. real and equal

B. real, rational and distinct

C. real, irrational and distinct
D

complex

13. “oom g=nmns zsxﬁoa%m* Tneny #3947, 8 %c@#o&am‘l nede Bwessee SATITY
wdwen.

A, xXH(x+1)=394

B. xH(x+2)>=394

C. (e+1)y+ (x+2)*=394
D

x+H(x+2)*=394

The sum of the squares of two consecutive odd numbers is 394. The mathematical

equation for the above statement is
A, xXH(x+1)’=394

B. x*(x+2)*=394

C. (x+1)y+ (x+2)=39%4

D

x+(c+2)>=394
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14. gryohs @¥3n® /B=90°, AB=6cm, BC=8cm =3, AC=10cm &mnt Sin (90-0) =
3S.

6 A
A o 10cm
6cm
10
B. % >
C 10 B 8cm C
= 8
D. &
C 10

In the given figure Z/B=90", AB=6cm, BC=8cm and AC=10cm then the value of
Sin(90-0) is A
6

st 10cm
A. 6cm

B: =

O

10
10
6
10
8
D. 2
10
15. 2 Sin 20 = 3 smn ‘0" © 3ok,
A. 90°
60“

B
€ 3
D. 45°

If 2Sin 20 = /3 the value of ‘0’ is
A. 90°
B. 60°
C. 3

D. 45°
Maths, Science, Social K-E QP 6
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16. ‘O’ $eommy FIRQ AC ok T ¥3FE ‘A’ Zgroms, OC=4cm =3y LACO = 30"
STRR 3T ST WGR.

A. Jf3cm
B. 4/3icm R
C. 2cm 2 \
. 307
D 3Cm A

In a circle with centre ‘O’ AC is a tangent at ‘A’. If OC=4cm and ZACO=30"
then the radius of the circle is

A. J3cm
B. 4/3cm
C. 2cm

D. 3cm

17. Sin 6=y a3 un Cos ‘0" =

A o B. ¥

e [y -x
Co i D. ¥ yy :
If Sin 6 = % then Cos '0' is
A T B. ¥
C. Jy-x D. v")’;!' *

18. Sin A+ SinZA=1 <wmon, Cos? A+ Cos* A o 23¢3

B. 2
D. 1

o p

2
2
3

If SinA+Sin? A=1 then the value of Cos*+Cos*A is
1

A. 3 B. 2

C. 3 D. 1
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A(4,-6) 33 B(a, b) 2othrivay, Ao SesmOoRE HRROT) "Teenomd” HEd
‘@’ 3 DAY BSnD

A. a=4% b=6 B. a=-4m3 b=-6
C. a=-4a3 b=6 D. a=63% b=4

If origin is the mid point of the line joining of the points A(4-6) and B(a,b) the

values of ‘a’ and ‘b’ are equal to
A. a=4andb=6 B. a=-4andb=-6

C. a=-4andb=6 D. a=6 andb=4

20. A(x,y,) =% B(x, y,) Romnd Smas SATE, somlRokns 1R
A. d=.\/l{.\'3—Jr]]ll—i-{y:—_1',]2 B. dz\;’(x,—}q}z—r(x:—_vz]z
C. :\/—(x, —_v:)z +(xz—_1-',)3 D. dz\/(x: =x Y+ (=)
The distance between the points A(x, y ) and B(x, y,) is given by the formula
A, d=(x,-x) +(y,-») B. d=y(x-»)+(x-»)
C. d={(x-y)+(x,-y) D. d=J(x,-x)+(»-»)
21. A(1,2) O (0, 0) == C (a, b) wombries T8¢ Seamn3=ngs
A. a=b B. b=2a
C. a=2b D. atb=0
If the points A(1,2) O(0,0) and C(a,b) are collinear then.
A. a=b B. b=2a
C. a=2b D. atb=0
Maths, Science, Social K-E QP 8
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22. 3RYTHE FECRY ABon vy
A 1=ms
B. 5z®3
C. 3=»3
D. 4z®»3
In the graph given the length AB is
A. 1unit
B. 5 units
C. 3 units
D. 4 units

23. wp QMBI TP RACKY 65 YOI, RF JWCRTQ 50 woInvR:,
TERENRFEY 55 SOINYR, Terts nedsn QNCLEY o) woIndsh, IENLIE. ey,
STORNAYY T TBODLT TovZO woInw 60’ wuS nrd3n QWRTY YR IR
QoINS :
A. 65 B. 60
C. 50 D. 70
A student scored 65 marks in I language, 50 marks in Science, 55 marks in Social
Science and some marks in Mathematics. If the average marks scored by him
in all the four subjects is 60, then the marks scored by him in Mathematics is
A. 65 B. 60
C. 50 D. 70

24. “Feorod TZIoL” SHAT: BEIRYNDE TWEIRENT TOWOF).
A 3 ERO8 = WIVLT + 2 [OXO B. 2 "eX0 = wIOE + 3 aqusos.
C. 2 0mes =2 wmos + 3 3RO, D. wmes = 3 IO - WIReE.
The empherical relation between the three “central tendencies” is
A. 3median = mode + 2mean B. 2mean = mode + 3median
C. 2median = 2mode + 3mean D. Mode = 3mean - median
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